Trigonometric Functions - Class XI

Past Year JEE Questions

Questions

Quetion: 01

Ina APQR, If3sinP+4cos Q=6and4sinQ+3cos P =1, then the angle Ris equal to :
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Solutions
Solution: 01

Explanation
Given3sin P+4cosQ =6 ()]
4sinQ+3cosP =1 ... (i)

Squaring and adding (i) & (ii) we get
9sin2p + 16c032Q + 24 sin P cos Q
+16 sian +9c0s2P + 24 sin Qcos P
=36+1=37
=9 (sinzp +cos2P) + 16 (sian + cosZq)
+24 (sin P cos Q + cos Psin Q) = 37
= 9+ 16 + 24 sin(P + Q) = 37
[As sin20 + cos20 = 1 and
sinA cos B + cos A sin B = sin(A + B) ]
= sin(P+ Q) = &
>P+0=Zory
>R=3orf
(@asP+Q+R=nr)

IfR=Fthen0<P,Q< %

= cosQ < 1 and sinP<é



= 3sinP+4cosQ < izlwhich is not true.
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